10MELFBFIUTILA 2025/8/13

St

Name

AT 1 2 3 4 5 SETHE| B | w2k B
1 |EHE Ampersand Tennis Academy 42 41 43 41 4 40 1
2 |EHBEME |STKPLAYERS 24 40 | 42 | 43 4 31 2
3 |INBHMCKER |smrmcs—rvararzanes | |4 04 04 41 4 13 4
4 |RILA  |EEESToAGS 34 | 24 | 40 42 4 22 3
5 |IRE&H REFRBTNTI— 14 | 34 14 | 24 4 04 5
Bty 6 7 8 9 10 SETHE| Wi |mivr—ss AR
6 |FHBKX |ARHET=XV37 04 14 14 04 4 04 5
17 \BFR FRD21=TT=R 40 41 | 41 04 4 31 2
8 |BEZR ITARTRT—VESE | 4] 14 14 | 24 4 13 4
9 |EAZ—H [RrET=RA—TY | 4] 14 | 41 14 4 22 3
10 |ShftEd | RAR—VELYD 40 40 42 41 4 40 1
CT oy 1 12 13 14 15 16 |ETHAE| B |wor—ow B
IR ETEO—2T=X957 04 40 43 43 4 31 2
12 |REAWF |BT=RT7HTI— 40 42 40 41 4 40 1
13 | Lmg BUA=oT=2A—TL | 04 | 24 34 | 42 4 13 10391 4
14 |BHFEM | AATZRTHTI— | 34 | 04 04 | 41 4 13 1035 5
15 |[FroveX4EE |aafE o s—F ar LT=2Abys 34 43 40 41 4 3 1 3
16 |fLGEH |5EHT=-RI5T 14 | 24 14 14 4 04 6
DT mw s 17 18 19 20 21 22 |RTHAE| B |weros B
17 @R BRI2=TF=ATNTI— 40 | 04 | 04 14 4 13 4
18 |2HE& /7 AvkTRT—CES%E | (04 14 14 41 4 13 5
19 BT HRAT R 40 | 41 14 | 41 4 31 | 0.68| 3
20 MIBAR (BT =RATATI— 40 | 41 24 | 40 4 31 10.736| 2
21 |HEX ACE Tennis Club 41 41 42 40 4 40 1
22 |BEREAN  |5HT=RI5T 14 14 04 04 4 04 6




10U TFEFIUTILA 2025/8/14

St

Name

T 1 2 3 4 |mTHE| BR | mer-s®| IR
1 | BREE Ampersand Tennis Academy 42 43 04 3 21 2
2 |hEgES | RE—VELYD 24 24 | 04 3 03 4
3 |kEME  |BT=RTHTI— | 34 42 04 3 12 3
4 |\HRERK ACE Tennis Club 40 40 40 3 30 1

ofir 7 ey 5 6 7 8 |®ETHA| BB | mer-ix| IR
s |EHE#® |STKPLAYERS 43 40 04 3 21 2
6 |BFE HHD2=7T=X | 34 04 04 3 03 4
7 |SeEH BTRO—>7=24957 | (04 40 24 3 12 3
8 MR |BT=ATHTI— 40 40 42 3 30 1

Sy 9 10 11 12 |ETHE| B |wer—sx B
o |AWLA  |REBTAGE 40 41 34 3 21 2
10 |EXZE— [®yET=RA—T>| 04 34 14 3 03 4
11 |FvvEX$EE (aarEs—FvarLr=2nLyw 14 43 14 3 12 3
2 |&JIE HR#BT=AHE 43 41 41 3 30 1

T 13 14 15 16 17 |=THRSE| BR |mer—ox| JE{
13 [INEFZKER |seimcs—rsarir=an s WO | 24 41 04 4 22 3
4 AR s7avk7R7—vES%E | WD WD | WD | WD 0 04 5
15 A3 |ABATZRFHTI—| 42 | WO 40 43 4 40 1
16 |HEBX |BRHT=XU357 14 | WO | 04 14 4 13 4
7 | BBREA | 5HT=RITT 40 | WO | 34 41 4 31 2
T 18 19 20 21 22 |ETHE| B |(wer—sx| B

18 | L8R EVR=YT=RA—TY 04 14 | WO | 24 4 13 4
19 [EAR BRU2=7F=27HTE—| 40 43 | WO | 42 4 40 1
20 |ZEREE] REFRWTHTI— | 41 34 WO | 41 4 31 2
2 |[ZEE /7avkr7—vEs% | WD | WD | WD WD 0 04 5
2 |#EE | 5HT=R93T 42 24 14 | WO 4 22 3
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